Correct Christmas Tree

Enigma n°5

14t December 2023

For a tree triangle to be correct, the numbers in the Christmas
bauble need to be equal to the difference of the two bauble below
(except on the lowest line, which is free). Moreover, the tree must
contain natural numbers from 1 to n, n being the total number of
baubles in the tree triangle.

You are given the tree triangles of level 1, 2, and 3. Complete
the tree triangles of level 4 and 5.

What is the value of -1 ? (multiplication of x and })



